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MECE-001 : ECONOMETRIC METHODS 

Time : 3 Hours     Maximum Marks : 100 

Note : Answer the questions from both Sections as 
directed. 

Section—A 
Note : Answer any two questions from this Section. 

20 each  

1. You are given : 
Y 2X  

16.95 0.84 
18.25 1.34 
19.56 1.75 
20.46 1.55 
21.76 1.63 
23.39 1.89 
25.00 2.13 
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(a) From the above mentioned data, estimate 
the following regression equation : 

1 2 2Y Xi i iu= β + β +  

where u is the error term. 

(b) How much of the squared variation of Y is 
explained by the regression equation ? 

2. (a) Describe the concept of error term in 
regression equation with a diagram.  

(b) Explain and illustrate the least-squares 
method of estimation.  

3. What is meant by multicollinearity ? What are 
its consequences ? How do you detect the 
problem of multicollinearity in a data set ? 
Explain any one method for removing the 
problem of multicollinearity.  

4. Explain the concept of errors in variables. What 
are its consequences ? 

Section—B 
Note : Answer any five questions from this Section. 

12 each  

5. Explain the maximum likelihood estimation. 
Are these estimators same as the least-squares 
estimators ? 
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6. Describe the following two tests of 
heteroscedasticity : 

(a) White’s test 

(b) Goldfeld-Quandt test 

7. Explain with an example, the use of dummy 
variables in seasonal data.  

8. What is the use of the Chow test ? Explain with 
an example. 

9. Explain the following two models : 

(a) Koyck model 

(b) Autoregressive distributed lag model  

10. What is meant by identification problem ? 
Illustrate with an example. 

11. Describe one merit of the Probit model over the 
linear probability model.  

12. Explain with an illustration the estimation 
process of two-stage least squares method.  
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      MECE-001 

,e- ,- (vFkZ'kkÏ) (,e- bZ- lh-) 

l=kkar ijh{kk 

fnlEcj] 2022 

,e- bZ- lh- bZ--001 % vFkZferh; fof/;k¡ 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % nksuksa Hkkxksa ds iz'uksa ds mÙkj funsZ'kkuqlkj nhft,A 

Hkkxµd 

uk sV % bl Hkkx ls fdUgha n k s iz'uksa ds mÙkj nhft,A 
2×20=40 

1- vkidks fn;k x;k gS % 

Y 2X  

16.95 0.84 
18.25 1.34 
19.56 1.75 
20.46 1.55 
21.76 1.63 
23.39 1.89 
25.00 2.13 
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(v)  mi;qZDr vk¡dM+ksa ls fuEufyf[kr lekJ;.k 

(izfrxeu) lehdj.k dk vuqeku yxkb, % 

1 2 2Y Xi i iu= β + β +  

 tgk¡ u ,d =kqfV in gSA 

(c)  izfrxeu lehdj.k }kjk ‘Y’ dh fdruh oxZ 

fHkUurk (izlj.k) dks le>k;k x;k gS \ 

2- (v)  ,d fp=k (vkjs[k) dh lgk;rk ls izfrxeu 

lehdj.k eas =kqfV in dh vo/kj.kk dks of.kZr 

dhft,A 

(c)  vuqeku dh U;wure&oxZ fof/ dh O;k[;k ,oa 

o.kZu dhft,A 

3- cgqlajs[krk dk D;k vfHkizk; gS \ blds D;k ifj.kke 

gksrs gSa \ ,d vk¡dM+s ds lewg eas vki cgqlajs[krk ds 

gksus dh tk¡p dSls djsaxs \ cgqlajs[krk dh leL;k dks 

nwj djus ds fy, fdlh ,d fof/ dh O;k[;k 

dhft,A 
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4- pjksa eas =kqfV;ksa dh vo/kj.kk dh O;k[;k dhft,A 

blds D;k ifj.kke gSa \ 

Hkkxµ[k 

uk sV % bl Hkkx ls fdUgha ik ¡p iz'uksa dks gy dhft,A 

5×12=60 

5- vf/dre laHkkfork vuqeku fof/ dh O;k[;k dhft,A 

D;k blds vuqekud U;wure oxZ fof/ ds vuqekudksa 

ds leku gksrs gSa \ 

6- fo"kefolkfjrk ds fuEufyf[kr nks ijh{k.kksa dh O;k[;k 

dhft, % 

(v)  okbV~l ijh{k.k 

(c)  xksYMiQsYM&DokaM~V ijh{k.k 

7- ekSleh vk¡dM+ksa eas ewd ;k vkHkklh pjksa ds mi;ksx dks 

,d mnkgj.k dh lgk;rk ls le>kb,A 

8- pkm ijh{k.k dk D;k mi;ksx gS \ mnkgj.k dh 

lgk;rk ls le>kb,A 
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9- fuEufyf[kr nks ekWMyksa dks le>kb, % 

(v)  dksd ekWMy 

(c)  LolekJ; cafVr i'prk ekWMy 

10- vfHkfu/kZj.k (igpku) dh leL;k dk D;k vfHkizk; 

gS \ ,d mnkgj.k dh lgk;rk ls le>kb,A 

11- jSf[kd izkf;drk ekWMy ij izksfcV ekWMy ds ,d ykHk 

dk o.kZu dhft,A 

12- f}&pj.k U;wure oxZ fof/ dh vkdyu izfØ;k dks 

mnkgj.k dh lgk;rk ls le>kb,A 
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